9.50
[241.30]

TOP

MOTOR DRIVEN

3-GANG UNIT —
2-GANG UNIT —
SINGLE UNIT —"A",

MANUALLY OPERATED

A",

15.44
[392.18]

1.94
[49.27]

3-GANG UNIT — "A", "D"
2-GANG UNIT — "A", "B"
J
10.31
[261.87] \\
\ "D T
“H
\ |
N
8.69 el
[220.72]
HOLES FOR .38 [M10]
BOLTS AS INDICATED !
i
\ wer
I A N
~
\ ik
\ an
S 5.19 N | b
Vi [131.83] I
/ \ .
(M. / _ \ an
N S Y
[ \ M
1/ \ N
SN I S 3.5 Nt o
[90.42]
| r——
o
YYY N
- |
7
N
L S

002105-138 REV

TEMPLATE N° 2

Downloaded from Elcodis.com electronic components distributor

NSTRUCTIONS

for INSTALLATION OPERATION and MAINTENANCE

POWERSTAT®

VARIABLE TRANSFORMERS
WITH POWERKOTE® COILS - 146-246 Series

@SH erlorEIectr:c

INSPECTION
APOWERSTAT Vil Transfomer o gcilon packing,
for any shippin 5 nspect e brach contoctwith parhcarcare Tne barmage and Shnage: mevuctons
Bakel Wi he Uit OUling the roper pTocadurs o falow i any pars & damaged or Tssing

INSTALLATION

NOTE: be protected I instaling

wiring, etc.,during instalation.

MANUALLY OPERATED ASSEMBLIES

bench or back-of-panel mounted as desired. The units
mounting, proceed as outined.

as shipped are arrang mounting. To change
SINGLE UNITS
POWERSTAT Variable Transformer types 146 and 246 have four slots i the base for mounting. The mounting
bolts can be located anywhere within the siots
BENCH OR WALL MOUNTING

holes *A” or 8" or Template
2. Place the unitin position. Insert and tighten four 3/8" mounting bolts.
BACK-OF-PANEL MOUNTING.
Template
e sn il e heae i scrow helon G- it i camior shit e "D The dal screw holes must be
tapped odato the 6-3 taximum p:

rews.
oosen the sha setscrews (at the base end of the shaft) and slide the shaft through so it will project about 1-
1/16" through the panel after installation.

lace the unit in position. Insert and tighten four 3/8" mouniing bolts. Place the knob on the shaft and position
the pointer correctly with respect to the brush position and the dial indications. Tighten the knob selscrows.

GANGED ASSEMBLIES

BENCH OR WALL MOUNTING
A. On Standoffs
1. Locate and drill the mounting bolt holes (four holes °A") using Driling Template No. 1.
2. Place the unit in position. Insert and tighten 3/8-24 mounting bolts. The mounting bolt length should not
panel thickness plus 112
B. On Side Bracke!
Locato and anu the four mounting bolt holes using Driling Template No. 2. BE SURE TO USE THE PROPER
SET OF H
2 foserand Strow npar vy tho o (op mouniing bols
Place the unit in position and insert the two bottom bolts. Tighten all mounting bolts.

Teephone and Fas Numbers
00507
860

TollFree (i Ush nnd (nnadu only]
Telephone

0

86050720
860507

BACK-OF-PANEL MOUNTING
1. Locate and diill the four mounting bolt holes *A', the three dial screw holes “C" and the center shaft hole ‘D"
using Driling Templals No. 1. Maximum panel tckness fs 3 The three dial screw holes must b lapped Lo
accommodate the 6-32 screws sup

Bormons g ko and e d, Lo haft setscrews (at the base end of each unit) and side the shaft
rough so 1 il project about 1-116' through th panel afer installaon. Turn he racelofs ofthe. units t the
xramo courlercockwso posiion and ihian the shat setscrows. Rocheck o be sus tat he brushes are
properly alignet

3. Mount the dial o the panel with the 6-32 screws suppled
4

pied with o it

for use with panels to % /8-24 bolts %"

assembly, because of its added fengih and weigh,requies extra squorl in the Yorm ofashelfor ot
0 units o t

Floch 1o knob o he st o  postion the poinier comecly wih Tespect o the brush postion and the dia

indications. Tighien the setscrows

MOTOR-DRIVEN ASSEMBLIES

Motor-driven POWERSTAT Variable the
nch or wall mounted in the same manner as manually operated ganged assemblies. Three-ganged
assemblies, however, have three side brackets requiring 6 mounting bolts as shown in Driling Template No. 2.

PARALI.ELING CHOKES

ar hase rating, itis common
AT ka3 orger model In Some Saces i s ot Soceibla Sther because \heve is no larger model of the

() ST Varaole ransiomor wnen
may be mounted in any convenient position. Paralleling choke TSS87 is available for this connection and must be
ordered separately.

s

f6.A
OUTLINE

MAINTENANCE

With ordinary care, a POWERSTAT Variable Transformer should require
of

Jaced if arcing takes place or i i is badly
worn. Because the brush must be of a special material,replace only with a Superior Electric brush assembly listed
below. The assembly is designed to assure perfoct contact of the brush (o the commutator regardless of brush
position and length of time in use. Take care to avoid scraping, scratching or marring the commutator surface.
Follow these steps (o install a new brush assembly:

Remove the plate bl above th forminal panc!
Unfasten the’ mchorscrows

the old

ot, Bosure
hat the back end of i brush sirap i undet he Dm|e:1mns at the rear of the radiator brush siot.

Raise the brush and place a piece of sandpaper (grit #400 or finer) between the commutator surface and the
brush so that the smooth side is on the commutator and the abrasive side is against th

Whie holing e sandpaper npaco (1a).otate th raditor ough a st arc. Removethesandpaper and
blow out the excess carbon part

Rotalo o raciator several tmes {0 choc for smoaih travel of the brush over the commutator surface. Tha
brush should fit flat over be the brush and the

REPLACEMENT BRUSH ASSEMBLIES
MODEL NUMBER | PART NUMBER | DESCRIPTION

176012-001
176012-002

Whenever unusual mechanical or electrical dificulties are encountered in the operation or installation of your
POWERSTAT Variable Transformer, consult Superior Electric.

CONNECTIONS AND RATINGS

Important connection notes. Please read carefully.

- CONNECTIONS AND RATINGS given in these instructions are those most commonly used. In addition, all
ganged units may be connecled so that the unils operate electrically independent on a common shaft. When
this s desired, connections and ratings for a single deck unit should b

+ For ambient témperalures between -20°C and +50°C use current ralings given in the charts. Figure C shows

fes units are shown in Figures D and E.
+ The connection diagrams are labeled “L" for Line Connections, 'B" for Boost Connections and *S" for Step-Up
Comnecions

+ Clockwise (CCW) rotation hown in the R hart and Connection
Diagrams are for motor driven units and manual units with the knob on the radiator end. For connections with
the knob on the base end, use the shown CCW connection for CW operation, and shown CW connection for
CCW operation.
uses are il unit ind are suppl
n 146 types, and 15 ampere on 246 types.

+ COMMON shown in the connection diagrams is used as third leg in 3-phase open delta, or neutral in single-
phase 3-wire and 3-phase 4-wire wye configurations. COMMON s not used in single-phase 2-wira or 3-ph:
e wye configurtons. Jumper() rovided n slandard common poson should be moved or removed as

requi
Niotor drive wiing is shown in Figure -
#10,

F models. Suppl are 30 ampere

For the Step-Up Connections, the
oeoring uvpulvo\laae and maximum KA at maximum ouut valzge. The aulpul tuced
according t e G for ulput valtagos rente e 1555 of ot volage. M KVA ey

B Calcuiaiod Uskng e rig Curve n Figure 3 for voiages 188 thar maXOR.

. ransformer.
Lo coecions 13 ane 15, s paralahng choves ar foqurb. Parielng cheve T3581 o il for b
connection and must be ordered separatly. Wire per the appropriate diagram.

1sTYPES
FIGURE D

26TYPES
FIGURE £

‘OPERATION AT TEMPERATURES ABOVE 50°C
FIGURE C

ResTon

Lowen ueeer
rswos | LT SwTcH

‘OPERATION IN“STEP-UP” CONNECTION
FIGURE G

MOTOR DRIVE WIRING
FIGURE F


http://elcodis.com/parts/2865481/176012-001.html

CONNECTION DIAGRAMS

s1cow rcow
- e “og L1y o
R o i q e
b o .
;] 5 g = £
ER ER H H o H
I “ N v v ‘ . i 4
new cew #cw #acow
¥ P T3 b T bo oy P Iy
: B i ssow
i H . —— .
it - s £ - .
i £ - Pt il
bt el Lol o fagen b T,
i
RATINGS CHART
120 VOLT, SINGLE PHASE
sy e oo SIEPOP Shurtion
Toput Valsge 120 T T o T LY 1
TOutput Vollge: T T T LX) T T T T T
st Constant Terminals & Rotation Constant Terminals & Rotstion Constant Terminss & Rotabon Wodel Numbers.
T ] ot o
P23 750 P ey ey ) e | ey ey e e e | ey ey ey 7 L ey | ey g s | oo
BB BB EBHAGE EIBEE A E BB EGEE e ey
. |
| o || =] 2] ]2 wo| o ||| 2 IR ! £
i i | e i ¥
we| o (2 | o | o | B | an | [==] = |« i R vz | wa | [ o N §
o | o0 | | [ | 6 e e [ | o | e - S s | | [ Pt 1y
"Lie”cowecrion oo "STEP U ComgcTon i
[T w T 1
ool i - i ol i
P e T i T |

o e e e e e el | P P e e O e | e e e e
lad ol o iad cow W cow | con

ol B el & T | A | o | ) ) S| [ || S| 82

| e
sl s | e | w e | 2|5 CIHEE ano| o [0 | 28] 2 oa | e
wel o |2l 2le]l 4 ==l 2]lal & i | woa
| @ |2 [ = | o | G R 08 |[=n] e [ [ B8 % [ picd s |
E I I I I e | I I e e s | I i s |

HASE

sscow
Pt

t6cow
o wecew
o1

|

i

i

240 VOLT, THREE

e Covetnon o TPt cowecnon
7 1 T T e T s
Outgut Voltag ) S | 1 [T [0 1 1 [ET] o485 1 Il T
P e T R R T T
F50) 0 oy o v e o | vy e g el o 5 | o gy ey [l o o ey
st o S | e [ S [ [ | |t e
ol s [ o (o [ L n] o Ul s [ L] & Nee] s o[ [0 & | e wen
600 VOLT, SINGLE PHASE
Ingut Voltage: ) T T T T
Output Vol 0600 I I 1 I I 1 I 1
P e T T R T T
Frog [ s [ o | wan [ e [t | Outputf Juen rrog, | max [ v | gt [ouu] umper | [ erq | s | e | Vgt O] umeer | f sty | wotor
e [t [t o B R | [ [ o [ [ [ R |t 3
O K K K T A s | v
120 VOLT, THREE PHASE OPEN DELTA
e Jw] [ T T i) I - WA T
Output Vol (X3 I 1 [XIT) 1 1 1 I 1
P e T e | e o R T T
[ [t | i | i | wgg,v'l R IR G ER ...lT.,. ‘zw|w L | Py e
BB BB EE AR BB REGE BB E
wol » [ o [ = [ [l & (=] » = el & oz oz |

e 8 s = T e —
e e e | 8 I
Corstat Constant tation Terminals & Rotation Ferminats & Rotabon i
Curmtet Losd |impedance Load] _Terminals & Rotai & Re Curnent Loag | Teminats & Rot Madel Numbers.
:":F, e i BEDEEE e
- = o T | e [R5 =
ABREBBERHEE B EHiEE BB E R B
P N NN N A A 5 | 561 G R
Y138 VOLT, THREE PH,
e % s s s o T |
S Y e | 2 1 e e 1 =
Corsit Constant tation Comsint Terminals & Rotation Constant Ferminals & Rotaton umbers
Curmtet Losd |impadance Load] _Terminals & Rotai Current Load. &R Curren Losg | Temi o Model Mumbers
T e e TR T o | e
[ [ [ e [ B R ] o || se] =

Tnput Voltage ) w [T £ 200 T
Output Volag o | o0 | I 0560 0485 I T T
S, o, Terminals & Rotation Terminsis & Rotaion gl Numbers
Curren Load Jmpedance Load] Currnt Losd Mo W
s | e | o | o | i | Bt O] ey | | o | VB[O || ] et
e | | BB
2 I T R AR EEIEE
Toput Volsge o0 T T T
Output Volag oo | T I I
ot ot Terminals & Rotsion ot Terminals & Rotaion Consent, Terminsis & Rotabon ‘Mogel Numbers
e o o,
e | o [t | oo | i | o] e || e | o | v | ] e || e | e | e | O] i || ety ]
et |0 [ [ [ [ [ ] e
N N S I e [ e | wawon

e

Please read important connection notes on other side.

Downloaded from Elcodis.com electronic components distributor

szew

Gy m1COW

nzcow

002105-138 REV

TERMINAL PANEL

3-HOLES ("C") IN PANEL AT 120°
(3.50) [88.90] BOLT CIRCLE)
FOR No 6 DIAL MOUNTING SCREWS

HOLE IN PANEL TO CLEAR
.50 [12.70] @ CENTER SHAFT

~— —

-
-
~<

NOB ROTATION

N
—_ ~

Il 0
/ $» \ Y
NV
v/ )
\ - T TN

4-HOLES ( N PANEL
FOR .38 [M10] MOUNTING BOLTS

(SINGLE MANUAL UNIT ONLY)
4-HOLES ("B") IN PANEL
FOR .38 [M10] MOUNTING BOLTS

TEMPLATE N°1

Superior Electric « 28 Spring Lane + Suite 3 « Farmington, CT 06032 USA
www.superiorelectric.com



http://elcodis.com/parts/2865481/176012-001.html

